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Seat No.: __________                                                 Enrolment No._____________ 
   

GUJARAT TECHNOLOGICAL UNIVERSITY 
Diploma Engineering Semester –V Examination Dec’11- Jan’12 

 

Subject code: 341904                     Date: 20/12/2011 

Subject Name: Theory of Machines 

Time:  10.30 am – 01.00 pm                                      Total Marks: 70 
 

Instructions: 

1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered Authentic. 
 

Q.1 (a) Define the following terms: (1) Kinematic chain (2) Lower pair (3) 

Higher pair (4) Mechanism (5) Machine (6) Link (7) Structure  

 

07 

 (b) What is kinematic pair?  Classify the different types of kinematic 

pairs. Explain them with neat sketch. 

07 

Q.2    

 (a) Draw the cam profile for a knife edge follower with the following 

data: 

(1) Cam lift = 50 mm during 90° of cam rotation with S.H.M. 

(2) Dwell for the next 30°. 

(3) During the next 60° of cam rotation, the follower returns to 

its original position with uniform velocity. 

(4) Dwell during the remaining 180°.  

(5) The radius of base circle of the cam is 40 mm. 

(6) The axis of follower passes through the axis of cam. 

(7) The direction of rotation of cam is clockwise. 

07 

 (b) The crank and connecting rod of a reciprocating engine are 200 mm 

and 700 mm respectively. The crank is rotating in clockwise 

direction at 130 rad/second. Crank position is at 30° from I.D.C., 

Find out velocity and acceleration of piston using Klein’s 

construction method. 

07 

  OR  

 (b) In a four bar chain ABCD, AD is a fixed link and is 200 mm long. 

The crank AB is 60 mm long and rotates at 100 RPM clockwise, 

while link CD=100 mm.BC and AD are of equal length. Find 

angular velocity of link CD when angle BAD is 60°.  

07 

Q.3    

 (a) Derive the expressions for frictional torque loss in flat pivot bearing 

assuming uniform wear condition. Explain the effect of this 

assumption on the calculations.  

07 

 (b) A double start square screw thread is used to raise a load of 45 KN. 

The nominal diameter is 60 mm and pitch is 8 mm. The coefficient 

of friction is 0.12. Neglecting the collar friction calculate the torque 

required to raise the load, to lower the load and efficiency of screw. 

07 

  OR  

Q.3 (a) Explain the principle, working and use of rope brake dynamometer 

with a sketch. Derive the expression for brake power. 

07 
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 (b) State the functions of clutch and explain single plate clutch with neat 

sketch. 

07 

Q.4    

 (a) Determine power transmitted by flat belt running over a pulley of 

600 mm diameter at 200 RPM. Coefficient of friction between the 

belt and pulley is 0.25, angle of lap 160° and maximum tension in 

the belt should not exceed 2500 N. 

07 

 (b) Define gear train, state various types of gear train and explain any 

one gear train with neat sketch. 

07 

  OR  

Q. 4 (a) Derive the equations T1/T2= e
µθ

 for belt drive with usual notation.  07 

 (b) Define cam. Explain various types of cam follower with neat sketch. 07 

Q.5    

 (a) Define following terms: 

(1) Stability of governor 

(2) Sensitivity of governor 

(3) Effort of governor 

(4) Power of  governor   

(5) Fluctuation of energy 

(6) Fluctuation of speed 

(7) Coefficient of fluctuation of energy. 

07 

 (b) The turning moment diagram for a multi-cylinder engine has been 

drawn to scale 1 mm = 600 Nm on Y-axis and 1 mm = 3° on X axis. 

The area of output torque curve taken in order are as following: 

+52,-124, +92,-140, +85,-72 and +107 mm
2
. The engine is running 

at speed of 500 RPM. Total fluctuations of speed is not exceeding 

±1.5% of the mean, find mass of flywheel, if radius of flywheel is 40 

cm.  

07 

  OR  

Q.5 (a) Classify the various types of vibrations. What causes vibrations ? 

State the measures to reduce the effect of vibrations. 

07 

 (b) Four masses 200Kg, 300Kg, 240Kg and 260kg are revolving about 

an axis in same plane at radii of 20cm, 15cm, 25cm and 30cm 

respectively. The angular position of masses 300Kg, 240Kg and 

260kg are 45°, 75° and 135° from the position of 200Kg mass. 

Determine the magnitude and position of the balance mass required, 

if its radius of rotation is 20 cm. 

 

07 

 

************ 
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��.૧ 

 

અ. નીચેના પદોની �યા�યા આપો: 

 (૧) કાઈનેમેટ�ક ચેઈન (૨) લોઅર પેર (૩) હાયર પેર 

 (૪) મીક!ની"મ (૫) મશીન (૬) લ&ક (૭) ()*ચર 

07 

 બ. કાઈનેમેટ�ક પેર એટલે -ુ?ં 1ુદા 1ુદા �કારની કાઈનેમેટ�ક પેર2ુ ં

વગ5કરણ કર� (વ7છ આ9ૃિત સાથે સમ?વો. 

07 

    

�� ૨. અ. નીચેની િવગતો @યાને લઈ નાઈફ એજ ધરાવતી ફોલોવરની ક!મ 

�ોફાઈલ દોરો.: 

(૧) ક!મના  ૯૦° પFરGમણ  દરHયાન ફોલોવર એસ.એચ. એમ.થી ગતી 

કર! છે Iયાર!  ક!મની લીJટ = ૫૦ મીમી  

(૨) ક!મના  ૩૦° પFરGમણ  દરHયાન ફોલોવર L(થર રહ! છે. 

(૩) ક!મના  ૬૦° પFરGમણ  દરHયાન ફોલોવર અચળ વેગથી  પોતાની 

Nળૂ L(થિત પર પાછો ફર! છે. 

(૪) ક!મના  ૧૮૦° પFરGમણ  દરHયાન ફોલોવર L(થર રહ! છે. 

(૫) ક!મની લQRુમ િSTયા ૪૦ મીમી છે. 

(૬) ફોલોવરની ધર� ક!મ શાJટની ધર�માથંી પસાર થાય છે. 

(૭) ક!મની  પFરGમણની Fદશા ઘFડયાળના કાટંા ની Fદશામા ંછે.  
 

07 

 બ. એક ર!સી�ોક!ટ&ગ એWXન ની Y!Wક અને કનેZ*ટ[ગ રોડની લબંાઈ અ2Yુમે 

૨૦૦ મીમી અને ૭૦૦ મીમી છે. Y!Wક ઘડ�યાળના કાટંાની Fદશામા ં૧૩૦ 

ર!ડ�યન/સેકWડ ની ઝડપથી ફર! છે. જો આઈ.ડ�.સી. થી Y!Wક2ુ ં(થાન ૩૦° 

હોય તો ‘*લીન’ની રચનાનો ઉપયોગ કર� પી(ટનનો વેગ અને �વેગ 

શોધો. 

07 

   અથવા   

 બ. ફોરબાર ચેન ABCD મા ંAD ફ�_ડ લ&ક છે અને તેની લબંાઈ ૨૦૦ મીમી 

છે. લ&ક AB ૬૦ મીમી લાબંી છે અને ઘડ�યાળના કાટંાની Fદશામા ંફર! છે. 

લ&ક CDની લબંાઈ ૧૦૦  મીમી છે. જયાર! લ&ક BC અને લ&ક AD 

સરખી લબંાઈની છે. જયાર! aણૂો BAD ૬૦° હોય Iયાર! લ&ક CDનો 

કોણીય વેગ શોધો. 

07 

�� ૩.    

 અ. bનુીફોમc વેર કWડ�શન ધાર�ને Jલેટ પીવોટમા ંdમુાવેલ e�*શનલ ટોકc  

માટ!2 ુ ંfSુ સાgબત કરો. ગણતર�મા ંઆ ધારણાની શી અસર થાય છે તે 

સમ?વો. 

07 

 બ. એક ડબલ (ટાટc  (*વેર (hનો ઉપયોગ ૪૫ KN ભારને ઉચકવા થાય  છે. 

(hનો નોિમનલ �યાસ ૬૦ મીમી અને તેની પીચ ૮ મીમી છે.ઘષcણkક 

07 
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૦.૧૨ છે. કોલર ઘષcણ અવગણી ભારને ઉચકવા તથા નીચે લાવવા જlર� 

ટોકc  શોધો તથા (hની કાયc mમતા શોધો. 
  અથવા   

�� ૩.    

 અ. રોપ nેક ડાયનેમોમીટરનો િસoાતં, કાયc અને ઉપયોગ આ9ૃિત દોર� સમ?વો 

અને nેક પાવર 2ુ ંfSુ મેળવો.  

07 

 બ. *લચ 2ુ ંકાયc જણાવો અને િસqગલ rલેટ *લચ (વ7છ આ9ૃિત સાથે 

સમ?વો. 

07 

�� ૪    

 અ. ૬૦૦ મીમી ની sલુી પર ૨૦૦ આર.પી.એમ .થી ફરતા બેtટ uારા થતો  

પાવર )ાસંિમશન શોધો.  બેtટ અને sલુી વ7ચે ઘષcણkક ૦.૨૫ છે. 

એWગલ ઓફ લેપ ૧૬૦° છે. બેtટમા ંમહRમ ટ!Wશન ૨૫૦૦N  થી વધwુ ં

જોઈએ નFહ. 

07 

 બ. ગીયર )!નની �યા�યા આપી 1ુદા 1ુદા ગીયર )!નના નામ આપો અને 

કોઈ પણ એક  ગીયર )!ન (વ7છ આ9ૃિત સાથે સમ?વો. 

07 

  અથવા  

�� ૪    

 અ. બેtટ xાઈવ માટ!2 ુ ંfSુ T1/T2= e
µθ તારવો. 07 

 બ. ક!મની �યા�યા આપી 1ુદા 1ુદા �કારના ક!મફોલોવર (વ7છ આ9ૃિત સાથે 

સમ?વો. 

07 

�� ૫    

 અ. નીચેના પદોની �યા�યા આપો.: 

(૧) ગવનcરની (ટ!બીલીટ� 

(૨) ગવનcરની સેLWસટ�વીટ� 

(૩) ગવનcરનો �યIન  

(૪) ગવનcરનો પાવર 

(૫) Jt*ચbુએંશન ઓફ એનજ5  

(૬) Jt*ચbુએંશન ઓફ (પીડ  

(૭) કોએફ�શીયટં ઓફ Jt*ચbુએંશન ઓફ એનજ5 

07 

 બ. મZtટિસgલqWxy્ એ{Wજન  માટ!નો ટy્cન&ગ મોમ|ટ ડાયા}ામ Y-અgmસ પર  

૧ િમિમ=૬૦૦ Nm અને X -અgmસ પર  1 િમિમ = 3° (ક!લથી દોર!લ છે. 

આઉ~sટુ ટોકcના કવcનો િવ(તાર િનચે Nજુબ છે.  

+૫૨,-૧૨૪ , +૯૨,-૧૪૦, +૮૫,-૭૨ અને +૧૦૭ મીમી2. એ{Wજનની "ડપ 

૫૦૦ આy્.પી.એમ. છે. ટૉટલ Jt*ચbુએંશન ઓફ (પીડ મીન L(પડના  

±૧.૫% કરતા વધતી ના હોય અને Jલા��હ�લ ની Sીજયા ૪૦ સેમી હોય 

તો Jલા��હ�લ2 ુદળ શોધો. 

07 
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  અથવા     

�� ૫    

 અ. િવિવધ �કારના વાઈnેશન2ુ ંવગ5કરણ કરો. વાઈnેશન ક!વી ર�તે ઉIપ� 

થાય છે? વાઈnેશનની અસર ઓછ� કરવાના ઉપાયો જણાવો. 

07 

 બ. ૨૦૦ Fકલો}ામ, ૩૦૦ Fકલો}ામ,૨૪૦ Fકલો}ામ અને ૨૬૦ Fકલો}ામ ના ં

��યમાન, એક ધર�ની આસપાસ એક જ સમતલમા ંઅ2Yુમે ૨૦ સેમી 

,૧૫ સેમી, ૨૫ સેમી અને ૩૦ સેમી ની િSTયા પર ફર! છે. ૩૦૦ 

Fકલો}ામ, ૨૪૦ Fકલો}ામ અને ૨૬૦ Fકલો}ામ ના ��યમાનની ૨૦૦ 

Fકલો}ામના ં��યમાનથી એW�bલુર પોઝીશન અ2Yુમે  ૪૫°, ૭૫°અને 

૧૩૫° છે. જો બેલેWસ ��યમાનની ર!ડ�યેશન ઓફ રોટ!શન ૨૦ સેમી હોય 

તો સHsણૂc (ટ!Fટક બેલેLWસ[ગ માટ! બેલેWસ ��યમાન 2ુ ંNtુય અને 

પોઝીશન ન�� કરો.  

07 

 

************ 

 


